
Page  21GEM Parts Catalog

ASSY, BRAKE PEDAL 05
ITEM PART NO. DESCRIPTION QTY.

1 * ASSY, SWITCH BRAKE  (See following pages for breakdown of parts) 1

2 * ASSY, MASTER CYLINDER (See following pages for breakdown of parts) 1

3 0211-00116 WLDMT, BRAKE PEDAL 1

4 0311-00077 BRKT, BRAKE PEDAL - - 1

5 0311-00087 SHAFT, BRAKE PEDAL - - 1

6 0311-00089 BUSHING, PUSH ROD MNT - - 1

7 0311-00285 PAD, BRAKE PEDAL - - 1

8 0510-00007 PIN, COTTER 3/32 X 1.0 LONG - 2

9 0521-00010 NUT, HEX - NYLOCK 3/8-16 UNC GR5 ZN 1

10 0521-00017 NUT, HEX - NYLOCK 5/16-18 UNC GR5 ZN 4

11 0522-00008 BOLT, HEX -  3/8-16 UNC x 1.5  LG GR 5 ZINC PLATED 1

12 0522-00016 BOLT, HEX -  5/16 - 18 UNC X 1.0 GR 5 ZINC PLATED 4

13 0524-00003 WASHER, FLAT - 5/16 SAE .344 ID X .688 OD X .065 THK ZN 8

14 0524-00009 WASHER, FLAT - 3/8 SAE .406 ID X .8125 OD X .080 THK ZN 2

15 0524-00153 WASHER, FLAT - 5/8 MACH BUSHING 5/8 ID X 1.0 OD X .080 ZN 2

*  STARRED ITEMS ARE NOT AVAILABLE SEPARATELY

L0111-01163

*

*

888-677-4961
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  22 GEM Parts Catalog

ASSY, SWITCH BRAKE
ITEM PART NO. DESCRIPTION QTY.

1 0306-00107 SWITCH, BRAKE LAMP  - 1

2 0311-00105 BRKT, SWITCH - BRAKE STD - 1

3 0521-00013 NUT, HEX - PANEL ZINC PLATED - 2

4 0521-00071 NUT,KEPS - 1/4 - 20 UNC ZINC PLATED GR 5 ZINC PLATED 2

5 0522-00179 BOLT, HEX -  1/4-20 UNC X .75 LG SERATED WASHER HD 2

6 0524-00062 WASHER, FLAT - 1/4 .282 ID X .715 OD X .063 THK ZN 2

L0106-01164

888-677-4961
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  23GEM Parts Catalog

L0111-01162

ASSY, MASTER CYLINDER
ITEM PART NO. DESCRIPTION QTY.

1 0521-00017 NUT, HEX - NYLOCK 5/16-18 UNC GR5 ZN 2

2 0522-00084 BOLT, HEX -  5/16 - 18 UNC X 1.5 GR 5 ZINC PLATED 2

3 0524-00003 WASHER, FLAT - 5/16 SAE .344 ID X .688 OD X .065 THK ZN 4

4 *0611-00411 ASSY, MASTERCYLINDER .75" LOADED 1

5 *0606-00241 SWITCH, BRAKE LIGHT - PRESS 1

6 *0611-00281 SWITCH, BRAKE - FLOAT 1

* ITEM NUMBERS 5 & 6 CAN BE PURCHASED SEPARATELY BUT ARE SUPPLIED WITH ITEM # 4

888-677-4961
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  24 GEM Parts Catalog

ASSY, BRAKE LINES - FRONT - 05
ITEM PART NO. DESCRIPTION QTY.

1 0111-01107 ASSY, BRAKE LINE LH FRONT 1

2 0111-01106 ASSY, BRAKE LINE - RH FRONT 1

3 0111-01111 ASSY, BRAKE LINE SLA - FRONT 2

4 0111-01113 ASSY, BRAKLINE - MC TO TEE 1

5 0510-00169 CLIP, HORSE SHOE 2

6 0522-00183 BOLT, BANJO 2

7 0524-00173 WASHER , COPPER .408 ID X .670 OD X .050 THK 4

8 0611-00132 FITTING, TEE UNION BRASS 3/8-24 THD 1

L0111-01173

888-677-4961
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  25GEM Parts Catalog

ASSY, BRAKE LINES - MID - 2 PASS
ITEM PART NO. DESCRIPTION QTY.

1 0111-00667 ASSY, BRAKE LINE REAR (2P) 1

2 0319-00534 HOSE, COVER 1

3 0510-00171 CLAMP, P - 3/16 WIRE STL/BLK VINYL COATED 3

4 0523-00032 SCREW, HEX - WHSD 1/4 X .75 ZN - - 3

L0111-01176

888-677-4961
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  26 GEM Parts Catalog

ASSY, BRAKE LINES - MID - 4 PASS
ITEM PART NO. DESCRIPTION QTY.

1 0111-00668 ASSY, BRAKE LINE REAR (4P) 1

2 0319-00534 HOSE, COVER 1

3 0510-00171 CLAMP, P - 3/16 WIRE STL/BLK VINYL COATED 5

4 0523-00032 SCREW, HEX - WHSD 1/4 X .75 ZN - - 5

L0111-01175

888-677-4961
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  27GEM Parts Catalog

L0111-01177

ASSY, BRAKE LINES - MID - LONG BACK
ITEM PART NO. DESCRIPTION QTY.

1 0111-00667 ASSY, BRAKE LINE REAR (2P) 1

2 0111-01178 ASSY,  BRAKE LINE -  30" 1

3 0311-00533 BRACKET, BRAKE HOSE 1

4 0319-00534 HOSE, COVER 1

5 0510-00169 CLIP, HORSE SHOE 1

6 0510-00171 CLAMP, P - 3/16 WIRE STL/BLK VINYL COATED 4

7 0523-00032 SCREW, HEX - WHSD 1/4 X .75 ZN - - 6

8 0611-00472 FITTING, UNION - BRASS 3/8 - 24 THD FOR 3/16 TUBE DIA 1

888-677-4961
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  28 GEM Parts Catalog

L0111-01174

ASSY, BRAKE LINES - REAR
ITEM PART NO. DESCRIPTION QTY.

1 0111-01104 ASSY, BRAKE LINE - RH REAR 1

2 0111-01105 ASSY, BRAKE LINE - LH REAR 1

3 0111-01110 ASSY, BRAKE HOSE SLA - REAR 1

4 0510-00171 CLAMP, P - 3/16 WIRE STL/BLK VINYL COATED 2

5 0523-00032 SCREW, HEX - WHSD 1/4 X .75 ZN - - 2

6 0611-00132 FITTING, TEE UNION BRASS 3/8-24 THD 1

888-677-4961
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  29GEM Parts Catalog

ASSY, PARKING BRAKE LEVER 2-PASS & SHORT BACK
ITEM PART NO. DESCRIPTION QTY.

1 0111-00336 ASSY, LEVER PARKING BRAKE - 1

2 0211-00113 WLD, BRACKET -PARK BRAKE LEVER - 1

3 0311-00117 BRKT, EQUALIZER - PARKING BRAKE CABLE - - 1

4 0311-01507 BRKT, BRAKE CABLE  - LH PARKING BRAKE 1

5 0311-01508 BRKT, BRAKE CABLE - RH PARKING BRAKE 1

6 0311-01514 SPACER, BRAKE  HANDLE 2

7 0510-00018 CLIP, E - 7/16 SHAFT ZINC PLATED - 4

8 0510-00019 PIN, CLEVIS - 3/16 ANSI B18.8.1-1972 R1983 - - 2

9 0510-00020 PIN, COTTER - 1/16 X 1.O LG ZINC PLATED 2

10 0521-00017 NUT, HEX - NYLOCK 5/16-18 UNC GR5 ZN 2

11 0521-00024 NUT, HEX FLANGE 1/2-13 UNC GR 6 TECH LOCK 2

12 0521-00031 NUT, HEX - 5/16-18 UNC GR 5 ZN  - 2

13 0522-00021 BOLT, HEX  -  1/2 - 13 UNC X 1.0 GR 8 ZN YL ZINC PLATED 2

14 0522-00080 BOLT, HEX -  5/16 - 18 UNC X 1.25 GR 5 ZINC PLATED 2

15 0524-00003 WASHER, FLAT - 5/16 SAE .344 ID X .688 OD X .065 THK ZN 5

16 0532-00122 SCREW, HEX - WHSD 1/4 X 1.5 ZINC PLATED - - 4

17 0611-00303 ASSY, CABLE - PARKING BRAKE - 2 PASS / SM UTILITY 2

L0111-01235

888-677-4961
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  30 GEM Parts Catalog

ASSY, PARKING BRAKE LEVER 4 PASS
ITEM PART NO. DESCRIPTION QTY.

1 0111-00336 ASSY, LEVER PARKING BRAKE - 1

2 0311-00117 BRKT, EQUALIZER - PARKING BRAKE CABLE - - 1

3 0311-01507 BRKT, BRAKE CABLE  - LH PARKING BRAKE 1

4 0311-01508 BRKT, BRAKE CABLE - RH PARKING BRAKE 1

5 0510-00018 CLIP, E - 7/16 SHAFT ZINC PLATED - 4

6 0510-00019 PIN, CLEVIS - 3/16 ANSI B18.8.1-1972 R1983 - - 2

7 0510-00020 PIN, COTTER - 1/16 X 1.O LG ZINC PLATED 2

8 0521-00017 NUT, HEX - NYLOCK 5/16-18 UNC GR5 ZN 2

9 0521-00024 NUT, HEX FLANGE 1/2-13 UNC GR 6 TECH LOCK 2

10 0521-00031 NUT, HEX - 5/16-18 UNC GR 5 ZN  - 2

11 0522-00021 BOLT, HEX  -  1/2 - 13 UNC X 1.0 GR 8 ZN YL ZINC PLATED 2

12 0522-00084 BOLT, HEX -  5/16 - 18 UNC X 1.5 GR 5 ZINC PLATED 2

13 0523-00177 SCREW, HI-LOW - PHIL PAN #10 X 1 BLANK ZINC 18-8 SELF THREADING - 2

14 0524-00003 WASHER, FLAT - 5/16 SAE .344 ID X .688 OD X .065 THK ZN 5

15 0611-00131 BOOT, PARKING BRAKE LEVER 1

16 0611-00304 ASSY, CABLE PARKING BRAKE 4 PASS / LG UTILITY 2

L0111-01234

888-677-4961
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  31GEM Parts Catalog

ASSY, PARKING BRAKE LEVER LONG BACK
ITEM PART NO. DESCRIPTION QTY.

1 0111-00336 ASSY, LEVER PARKING BRAKE - 1

2 0211-00113 WLD, BRACKET -PARK BRAKE LEVER - 1

3 0311-00117 BRKT, EQUALIZER - PARKING BRAKE CABLE - - 1

4 0311-01507 BRKT, BRAKE CABLE  - LH PARKING BRAKE 1

5 0311-01508 BRKT, BRAKE CABLE - RH PARKING BRAKE 1

6 0311-01514 SPACER, BRAKE  HANDLE 2

7 0510-00018 CLIP, E - 7/16 SHAFT ZINC PLATED - 4

8 0510-00019 PIN, CLEVIS - 3/16 ANSI B18.8.1-1972 R1983 - - 2

9 0510-00020 PIN, COTTER - 1/16 X 1.O LG ZINC PLATED 2

10 0521-00017 NUT, HEX - NYLOCK 5/16-18 UNC GR5 ZN 2

11 0521-00024 NUT, HEX FLANGE 1/2-13 UNC GR 6 TECH LOCK 2

12 0521-00031 NUT, HEX - 5/16-18 UNC GR 5 ZN  - 2

13 0522-00021 BOLT, HEX  -  1/2 - 13 UNC X 1.0 GR 8 ZN YL ZINC PLATED 2

14 0522-00080 BOLT, HEX -  5/16 - 18 UNC X 1.25 GR 5 ZINC PLATED 2

15 0524-00003 WASHER, FLAT - 5/16 SAE .344 ID X .688 OD X .065 THK ZN 5

16 0532-00122 SCREW, HEX - WHSD 1/4 X 1.5 ZINC PLATED - - 4

17 0611-00304 ASSY, CABLE PARKING BRAKE 4 PASS / LG UTILITY 2

L0111-01236

888-677-4961
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  32 GEM Parts Catalog

ASSY, PARKING BRAKE LEVER
ITEM PART NO. DESCRIPTION QTY.

1 0111-00336 ASSY, PARKING BRAKE LEVER 1

2 0306-00120 SWITCH, PARKING BRAKE LEVER 1

* STARRED ITEMS ARE NOT AVAILABLE SEPARATELY

L0111-00336

888-677-4961
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html

